臺北巿立大學

103學年度研究所碩士班入學考試試題
班    別：資訊科學系碩士班（資訊科學組）
科    目：計算機概論（含程式設計)
考試時間：90分鐘【08：30－10：00】
總    分：100分
· 注意：不必抄題，作答時請將試題題號及答案依照順序寫在答卷上；限用藍色或黑色筆作答，使用其他顏色或鉛筆作答者，所考科目以零分計算。(於本試題紙上作答者，不予計分。)
1、 選擇題（每題3分，共36分）
1.
What’s the output of the following Java program?

public class Precedence {
public static void main(String[] args) {
int x = 2, y = 1, z = 3;
int a = x + y - 2/2 + z; 
int b = x + (y - 2)/(2 + z); 
System.out.println("a = " + a + " b = " + b);} }
(A) a=3 b=2 
(B) a=2 b=1 
(C) a=5 b=2 

(D) a=5 b=1
2.
What will happen when you attempt to compile and run the following Java code?

public class Utaipei{

public static void main(String argv[]){

                Utaipei cs = new Utaipei();

                int i =3; 

                cs.fermin(i);

                i = i++;

                System.out.println(i);

        
}

        void fermin(int i){

                i++;}}

(A) Compile time error 


(B) Its output is 5 
(C) Its output is 4 



(D) Its output is 3
3.
在一個有2,050個名字的名單中，用二分搜尋演算法(binary search algorithm)來找尋某一個特定名字時，最多要比對多少個名字?

(A) 11 


(B) 12 


(C) 2050 


(D) 1025
4.
兩個8進位的數字(77)8 與(13)8 （下標代表進位系統）轉成二進位後執行bit-level AND 的運算，所得的結果以10進位表示為何？
(A) 11 


(B) 3


(C) 13 



(D) 33
5.
According to the following recursive definition, F(5)=?
(A) 3 


(B) 5


(C) 8 



(D) 13 
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6.
________ is multiprogramming with swapping. 
(A) Paging 

(B) Queueing 
(C) Demand paging 
(D) Partitioning
7.
Pipelining improves CPU performance due to ?

(A) reduced memory access time 
(B) increased clock speed 
(C) the introduction of parallelism 
(D) additional functional units

8.
In the _____ method for synchronizing the operation of the CPU with an I/O device, a large block of data can be passed from an I/O device to memory directly.
 
(A)
programmed I/O (B) interrupt-driven I/O (C) DMA (D) isolated I/O

9.
In 2’s complement representation with a 4 bit allocation, we get _____ when we add 4 to 4. 

(A) 0 


(B) 8 


(C) -8 



(D) 1 
10.
_________ is a protocol for accessing and transferring documents on the WWW.

(A) HTTP 

(B) HTML 

(C) TELNET 

(D) FTP
11.
One necessary condition for deadlock is ____, which states that at least one resource must be held in a non-sharable mode. 
(A) resource holding (hold and wait) 
(B) mutual exclusion 
(C) circular waiting 




(D) no preemption

12.
In the dining philosopher problem, restricting each philosopher to request both chopsticks in advance of eating is preventing deadlock by denying_____. 
(A) mutual exclusion 



(B) no preemption 
(C) resource holding(hold and wait) 
(D) All of above
2、 問答題 (共64分)
1.
Write down the results of the following programs.（每題4分，共20分）
(a)
	int main(){ 

    int i;

    for ( i = 1 ; i < 20; i++ ) { 

        if ( i % 4 == 0 ) {

            printf("%d\n", i);

        } 

    }

    return 0;

}


(b)
	# include<stdio.h> 

# define ROW 4

# define COLUMN 3 

int main(){

    int array[ROW][COLUMN];

    int i = 0, j = 0 ;

    for( i = 1; i < ROW; i++ ) {

         for( j = 1; j <= COLUMN; j++ ){

              printf( “%d ” ,i*j );

         }

         printf( “\n” ) ;

    }    

    return 0;

}


(c)
	#include <stdio.h>

int main( void ){

    int a[10]={0},i;

    a[0]=1;

    for( i=0; i<10; i++){

        a[i+1]=a[i]+i*2;

        if(a[i]<30)

            continue;

        printf("%d\n",a[i]);

    }

    return 0;

}


(d)
	#include <stdio.h>

void f1( int number ){

    number = number * 10;

}

void

f2( int *nPtr ) {

    *nPtr = *nPtr * *nPtr * *nPtr;

}

int main( void ) {

    int number = 2;

    f1( number );

    printf( "%d\n", number );

    f2(&number );

    printf( "%d\n", number );

    f1( number );

    printf( "%d\n", number );

    f2( &number );

    printf( "%d\n",

                number );

    return 0;

}


(e)What do the following functions do? 
	int function1(const char *s) { 

    int n=0;

    while(*(s++) && ++n);

    return n;

}


2.
What are the three characteristics of object-oriented programming?
（5分）
3.
Determine a minimum spanning tree for the graph (a) using Kruskal's algorithm (step by step)（10分）


 SHAPE  \* MERGEFORMAT 
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4.
Find the shortest path tree of the graph (a) rooted at A by Dijkstra’s algorithm (step by step)（10分）
5.
Consider the following recursive function:

int mystery(int n)

  
{

     
if (n≤1) return 1;

     
else return n*mystery(n-2);

   
}

Write the output produced by the function when n = 6（5分）
6.
請利用反及閘（NAND gate），繪出取代及閘（AND gate）和或閘（OR gate）?（5分）
7.
Use the Huffman Tree provided to decode binary string 11001110100110111110.（4分）
8.
What is a URL (Uniform Resource Location)? What is URI (Universal Resource Identifier)?（5分）
不得使用計算機或任何儀具。
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（第 5 頁，共 5 頁）

